3 2008 ATGEBRA I  1zth February

1. ‘Write down algebraic expression for the following:
(a) Twice the sum of and y.
(b) The total cest of b books at z do]la:rs each and 3 books at y dellars each.

(¢} The next even number after the even number b.

2. Evaluate these expressions if a = —2, b= % and ¢ = 11
(a) a--c : (b) a” 4 ¢,
11 : W\ C
Il 1) — x b
(@12, @ < x

3. Expand and simplify these expressions:
(a) 3z{4z —5), '
(b} #(2c +3) — «,
(c} 7(x = 3)+ 3(5 — 2z},
(@) @+ 7)),
() (3u+ 4%,
() @z 5 — G + 57,
(g (22 —5)(32+7),
(h) (50, - 36)(5@ + Bb)
4. Slmphfy theose fx:actzons o

(a) %4_% (j @xlib
5 107 o ) 55 " 9a
1 ’ abc? ab
(b) 55_6—3;, : _ ‘(d) T
5. (a). Simplify: '
N B2 "z,—‘))(eriZ
s i
(i) z+1 = 33—z

zz—1) (—-1)(+3)

6. (a) Expand and simplify (3z ~ 2)(2z — 3) — (22 -+ 3)(2z — 3).
(b) Expand and simplify (¢ — 4% -+ (z —~2)%* 2% + (8 4+ 2)% + (x4 4)%.

(¢) Expand and simiplify 322 — (x — 4)B(z —5) — 42+ =z)},
R ] 92 g3 9% g5 9f L7 98
(d)Slmpth'ixm—zx?z‘gxi—i'ngX"s—X?XEg
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3 2008 ALGEBRA T — SOLUTIONS ~ 15th February

1. (&) Twice the sum of 2 and y is 2(x + ) (or 2z + 2y).
(b} The total cost of b books at = dollars each and 3 books at y dollaxs each is bz + 3y dollars.

(¢) The next even mimber after thé even number b is b 4 2.

Z.Ifa_—.-—z,b:%andczllz (6)-%_f:ﬁ_-%
(a) atc==2411 =2 g
. =@ Ty

:9_ :ii_l_
(B) a®+ = (—2)2 + 11> e
— 44121 (@) g xb=3x3

= 125. h =y

3. (&) 324 — 5);:‘ 1227 — 15z .
b) 8224+ 3)—e=2"+3x o
_ = 22% + 9z,
(c) 7(&= 3)+8(5—28) =% — 214 15- 6
=z — 6, '
(@) (a+ 7z —7) = 2% — 49.
(€) (3¢ + 4% = 922 4 24w + 16.
(£) (22— 5 — (204 5)? = 4a® — 200 + 25 - (4° + 205 + 25)
' = 4a® — 20z 4 25 — 4% — 905 — 25
=40z -
() (2z— '5) (3x —{-'?) = 6x%  1dz— 16z — 35
.:63;2-_9;_.35,'
(B) (ba — 3b)(5a + 3b) — 75a° — 9b™.

.. Boc iéb

Ja = 9e.
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;__4_;. 4 a:bc? _ab abc? 6
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